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The ox of his friend, etc. — o912 Y MY

Overview

The X3 discusses what ¥"7 means when he states that w7pn certainly
collects from n>7v. It cannot refer to a case where an ordinary ox gored an
ox of w7pH; for the 77N states that one is liable (only) if an ordinary ox gores
"y 9w, inferring that he is exempt if he gores a wipn »w . It would
seem from the X3 that we cannot find a case where one pays wpn for
damages. However the exclusion of ¥¥7 72 1s written only by 17p; why are
the other P> not obligated to pay, if they damaged w7pi?! Our nMooin will
discuss this issue.

nvoIn asks:
—1Y9 29N XY ONNT YWIPNN NX PITAY DI JWa I Nnvn

It is puzzling! Let the X713 establish the ruling of ¥" that w7pn% 1"p), by @
bs11 which damaged *w7pn, where he will (seemingly) be 2, for there

(by 237 1) the 7170 does not write 177Y9, so there is no reason to exclude wps by
1"w, as there is by 77 where the 7710 writes 17¥7 explicitly.

oI anticipates that there may be other reasons why we exclude 7301 12 from paying if
they damaged w7pi, and negates them:

— DNDNNN NTYIN NINT 999129 XD 19P10)
And we cannot derive that 72 1 is MWD by WP from 37p (just as 7P is
WP MWD S0 too PA7 W); since 7P is not initially a 7¥ (initially 17 pays
only a pr1°¥m), that is why it is WP 7wo. However, 23 1w which are 1n%nnn P7vin, and
are more 71 than 17p, may be 21 by wpn.

moIN negates an additional possibility to have w7pna Mwd 23 w: ,
— 19299 XY ") 905 YV NN HNNT MY NI

And we cannot derive the Mo of wipna 737 1w through the 7w 7913 of
ale)=] abw" mvm nrn; we should use this MW 77°1 to derive the Mo of %31 1w by wIpn
from 17p -

— 209 MMTYN PIYY NHX NYAPNI N7
For this mw 77712 was accepted only for the purpose of deriving 2w
payments for all 1>, but not to be used for other purposes, including that 937 @ are
WTPRA 0D,

moon will now prove his point that 131 771°n1 nAN is a limited W',
— PYTPINN 2109 D7) D390 NIV PNRVN INDID VDY Y9 DY INY

b %o [oouown] nnw.
2 One’s ox either ate or trampled the property of w7pA.
3 X,71 V5. The &3 used this 7w 7773 to derive the 21’1 of 2v'n by all (twenty four mMax) 1°p°1.
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For if this "1 can be utilized for everything, then let all the 1Pt be
exempt from payment if the damaged item was hidden (let us derive it from
wX which is 1w M), and they should likewise be 7o if they damaged
9'"'7792 (just as "W are 1"772 2MWH) and MWD from damaging utensils and

nuanp that are unfit (just as M2 is w7 910921 09992 ). The fact that it is not
so, proves that the w"tx of 21 71°n1 nnn is limited only to deriving 2v’», and we cannot
derive anything else (including w7pn2 7o) through it.

mooIn answers; first MdOIN establishes the facts that all P11 are Mws by wIpA, and then
later Mmoo wisll explain the reason:
= PPN Y2 210V NIMTI WTPNA 199109 PP 1IDI10T 91990 WU

And one can say; that all damages are exempt by w7p77 as is evident in
"»Hw17° 71170 in the beginning of P17 P7o -
= YTPN YY MY R INYT NV N3N RN PP TWINA I 19229 1IN NN NN 9INPT
For the "n%u1 states there; ‘what are we discussing6? If it is "ppors "wss,
it cannot be 27, for we learnt in the ;73w» ‘3799 2 and not a WP Mw’®.
— 11923 1PPT PN VITAY PP NN 529 %31 NN IDN Y7132 IN)
And if we are discussing damages done by a person to w7pn, he is also not
211 for n'' taught there are obligations to pay for damages to ordinary
people but there are no damages for w7ps!°
— 120 PTaY N33 dHY 29N MIIND NON
It must only be in a case where one said I owe a % to the nsam p72
(improvement of the p"»°2), then he must pay from n>7y’. This concludes the citation
from the *»2w17° 712N, MDDIN continues -
— POMN OTNA XYY )92 XYY WA XY WP PP DNOWN KXYT ¥nawvn
It is evident from this 25w that there can be no laws of damages to
w7pn7 neither through 32 nor %37 nor a person who damages. In all cases
they would be s
— 1132 9YY Y91 9MIINA NON
The only way one is liable to w7pi1 is when he says I am obligating myself
to give a 71w for the n°271 p72.'°

4 TWIPAN 210D are 1127 that became unfit for the nam and were redeemed. If they fell into a 712 there is
no 1nY2wn 2rn since we cannot fulfill the rule of 12 77> nm. We are required to bury the 1w7pni 2100 MW
and cannot feed it to the dogs. See " 17"7 oW "W 2,31 1P? KM

5 (8,0 77) ®"77"D A

® The 9w cites there WP 1" (as ¥ states here). The *»5w1 then asks (as does our X73) what are
we referring to?

" The commentaries explain that 7"»°13 w27 refers to damages done by animals (to animals). They are called
1°°11 Wwon, because the person by not watching them prepares them to do damage. See the 771wn on 2,0 77
P11 DR SNWOT AN AYA Chanw 5o

¥ It would seem that the *»>w1 derives the WP 1197 P11 MWd from 17w MW, See MW A7 NN "wA.

? "3 may perhaps derive this from p>% 179 2% *2.

10 See 1 mix (%,7) 7" why the *n?w17 is not disturbed by the question 1pr1a 2 19> 12w 1"'va% on.
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mooin offers an additional proof that there is no wpn® PP -
— INP AN 1NN NDI¥N DN PRY D20I) v 971pY) NINT 1PN295H2 ¥YHIYN 19)

And this is also indicated in our mw» where it is taught that one is
obligated to pay (only) if he damaged assets where there is no possibility of
sy (this excludes property of w7pi), and the mwn is referring to all the

MR (that they are w7pna Mwo) -
— DTN DT NYAN MINT INNID DTNT PPN 129N

And even damages that are done by a person are exempt from payment,
according to the one (27) who maintains that 77va» in the 71wn refers to a
man. We see from this 71wn as well that there is no payment for damaging wps.

mdoIN anticipates a difficulty: 1
— UNMIN DYWN RIT P11 V99 “UINY 93 (sux /772y INIYNL INNIY 9INRT NI

And that which »Xmw states in »Xw7 779, the 770 writes ‘if a man eats
13W71|7, he has to add a fifth, etc.” the word ‘eats’ excludes one who

damages v7p7 that he does not pay the w21, One pays the wmn only if he eats

the w7p1, but not if he damages or destroys it. This concludes the citation from Xmnw.
= 2N 9P NN yIvn)

This indicates that he is only exempt from paying the wmn, however he is

obligated to pay the principal; this is in contradiction to what m»on maintained
that there are no payments for damaging w7p!

N1B0IN answers:
— 192911 995

The 177 payment is due only 3329713 however 71107 12, one is entirely exempt from
paying w7pa for any damages.

moon will now explain why there are no P11 payments by w7pi:
— DTN 1P 2992) VTIPNA Y2097 PP INYT AN

And it seems that we derive that the other 3°?11 (besides 27X ,77p and 712)
are s by wpn, from 372 (which is Mwd by wipn because of 1y7) and

27X (who is exempt on account of 20K> *2) -
— YIPN 19 991 Y OOW TP 9909 13 TV9T N3’

and 712, which is exempt from paying (even) for PwTpIn 208, and M2 is

certainly 7o for actual wTP. We derive all the other 7Pl from these three ( 27X 77
).

mooin asks:
— NPITNY NN WY YUY 11105110 YW 132952 5257 1IN ON)

' 79o9n refers to the sin of deriving a benefit from objects that belong to wpr.

1295 25 [mR] ®p™. The P09 reads "3 ¥H¥ WWNAN (DM MW WP YK % LK.

" The p10o is actually discussing 77n; see however later in this Mo that it applies to w7p as well.
' See previous footnote # 4.
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And if you will say; how can we derive 12 from all of them (27X 1w 17p);

for @ is stricter since she derives pleasure when she damages, as opposed
to M2 o7X 7P where there is no X171, Therefore even though 7121 27X 7P are Mwd by
w72, nevertheless Jw which is stricter should be 21!

Mo0IN answers:
— D7%¥2 MDY 75 JY P19 DYT°2 PIIIN DTN INNNY NN INT 91217 W

And one can say; that it is more fitting that a person, who damages with
his hands, should be liable for any loss he causes (to w7pn), than a

damage which is caused by merely sending out one’s cattle. The x v of 1w
that p°17% X817 ©° cannot diminish the X of 07X; that it is the actual person that is
doing the damage and not merely his belongings. Therefore 07X is more 711 than 7w, and
if (even) O7X, who is most 1M, is WIPIa MWY, it (certainly) applies to .

mooin asks an additional qlllsestion:
— NP9 YAN?Y 9991 RN D N1D NN ANT INYI 9INRN ON)

And if you will say; why does the :771n need to write 16913 (to exclude 1P

from paying w7pr), when we derive it from %ox8v 9 -
— Tnyanh wrpn RN YIPN (o> 91 NIIYM NIDNI RNONTI

As it is mentioned in 7%°¥» noon that the 77710 compares w7ps to 77277n -
— 909 N%Y PII NDIINT 9D D WP GR P211IY VY9 HINY 5 29N NN NN

Just as by 772170 it is written 58> 52 which excludes a 1% from payment,

so too by 7P anything that is edible and is damaged one is 9D -
— 0NN RNINTI NDIINT 271919 NPIT INDY

And not specifically something that is edible is excluded; but rather it

. . . 1 .
excludes all items by w7pn as is mentioned there'®. The question is once we
know that an p>1a77 QX is MWD by w7pn, then certainly all other 2'p°m are MWD (as MdOIN
just mentioned); why is there a need for 1y Mw?"’

Mo0IN answers:
— VPN PO MVIT INIUNT INT INT 1Y U

And one can say; that if we would not have found explicitly elsewhere

that one who damages wW7p:7 is MWD (as we find by 17w W) -
— TINY YIMIN LYNY NIN P25 099 YN 9913 11PWAT M XY

' See “Thinking it over’ # 1.

'* maoin does not ask why we need 12 7 N to exclude PwTRYAA 2109 7 by M2; for we could not derive
it from 958> *3 which is discussing actual w7ps, not PwIRMT *700 MW which is 2°7v2 1. [In addition, the
105 of 17 ;7°77> Niam is necessary 917 (to teach us that 2131 79°212 o°950n D°%v2).]

" There is a Xor xom w"n. It says (0,7 XIP) M2 XV by wpa and it says in (32,77 [77P] 027T12)
concerning 72170 that X 179Y Wwn X9

'8 The xma there states that if WIpn was 7371 X921 0301 (it depreciated but no benefit was derived) he is 7.
' maoin by may (also) asking on what he previously stated that we derive 1P 9% from 1121 27X 177;
seemingly we can derive P11 X from 27X alone, without 1121 77p.
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We would not have interpreted 228> 5> to exclude a P>t completely from

payment; but rather only to exclude from paying the w2y alone. However
now that we know that by 1727 7°31 he is entirely 7105 by w7pn (from 1737 w)* we can
assume that the VW of p>1n% VD HR %3 refers to the principal as well as to the wmn.

MooIN anticipates a question:
— NI 1D9T PMNT )P P21 29N DYI 29N NN YINY 137 21 HY 9N)

And even though the P05 of ®oX> %2 is written concerning 772y n (if a
DX eats the 770 which belongs to a 112), and there the p»» (if he
damaged the 72170 and did not eat it), is 39917 for the 392 (not the wnn), since

the 72170 is the money of the 3775, Seemingly since we derive the exclusion of wTpi
from this same 105 as 717N; we should assume that just as a 72170 P12 is 7722 2°°17 so too
should a w77 2°1a be 17p2 2. This would contradict, what was said above!

mooIn responds:
PO 19520 TN MNT NIPINNK NIPN NIN P9 XY DIN? 997 NP INNN DIPN Yan

Nevertheless we do not derive from this o2 of Y28 %5 that one who
damages 7m0 is 172 201, for the 7109 excludes the P> from Pm%wn; but
rather we derive the m%wn 21°1 for a 7m0 Pn from a different Pyop, for

the 72170 2712 is like one who robs his friend or damages him, where the 7212
and i certainly are required to pay’'. We do not derive that from this P09 of 23x* »3;
but rather from other 2°109. Similarly we derive from those 2°p109 that the 372 N0 P
must reimburse him. However, by w7pn7 where no individual is being damaged, only
w7ph, then there is no payment due (just as if he damaged his own 7217n).

modoIN anticipates an additional difficultyz:3 2
— 931 Y91 NONN KD D292 779919 NIINT (.12 1uph) MINT INNID 11791)

However according to the one who maintains that there is a =912
payment by %37 (as well as by 17p), then 731 cannot be derived from all

these (ma1 07 D) -
— NMYNY DP9 9999 OHWN NIT 912 DTN )IPY NNT

For =121 27X 379 are more lenient than 37, for they do not pay =915 the

first time they killed**; however 931 pays 7913 the first time it kills because 237 is a 791
N>

2 We also know that M2 is w72 Mwd, and therefore we can derive most of the 1°p*1» (excluding 1w [which
is 1% R37 W] and 07R) that they are Mo by w1p from a mw: 7% of M1 17p. It would therefore follow
that the 77N is P 117 07X VYA even from the principal, and we can derive 7 from 27X.

2! The 157 of 17p *mPwn of this P09 is not (only) when he ate someone else’s 712170, but (also) if a PX W ate
his own 7170, etc. he is responsible to replenish the amount of m17n he ate (with a food that can become
7m170), and it is designated as 770. In such a case, if he is > his own 72170 he is completely 7v9.

*> When an ox gores and kills (three) people and becomes a 7912, and then kills again, the owner is liable to
pay 1913 to the heirs of the deceased (7,83 [D2vawn] NnW).

* According to this 7"» if a 9w tramples a child to death while walking he is liable to pay 2913.

9121 07X never pay 1913 (a person who kills either gets killed or goes to n23, etc.; 2 is M2 for killing a
man [278 8?71 MW]), and 17p pays only after it becomes a 7v.
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mooin offers a partial solution: 2
:NM2 TN BYY 9915 (ow) YD 5PNRT 199V 239D

However according to ©''% who maintains that there can be a complete

9212 (even) by a an it is understood that %31 can be derived from 21 1P, because
it is possible for 17p to pay 07w 1915 the first time. We cannot therefore ask that 937 is
more T for it pays 1913 the first time, for according to v"1 we find that an 7p can also
pay 1912 the first time.

Summary
T is MWD by WP from the 7% of WIPA YW MW R 1777 W, 112 is MWD by

PWIPIAT 22100 MW and WP from the 109 of 12 77 Nym. OIXR is MWD by wWIPA
from the 1% V9 28 2 P09, All other 21 including 9371 1w are Mwd by
w7pi for they are derived from (1121 719p) 07X, Even though %31 is 1910 oown
71WR avda oW, nevertheless if we maintains like "9 that 25w 9910 2%wn an
(Pm117 7x¥2), we can derive that 937 is also w7pna Two.

If one is 1 the 72170 of a 1732 he has to pay the 172 (but not if he is P> his
own 7M1N).

Thinking it over

1. nmooIn asks that we can derive that 1P is WP Mwd from 279o8° °3;
however 179 has a X0 that it is 9910 o%wn as opposed to P17 QIR (as
mooIn asks concerning deriving 931 since it pays IWKRA Qvoa 0w 1919)?%

2. Is the law that there is no payment to w7pi7 for damages, a rule concerning
wIpn, that wipn does not have the ‘right’ to claim damages; or is it a rule
concerning the 0’pm, that they are exempt from paying damages to w1pn?>

% moon does not answer here what he answered previously by 1w, that p°Tn 21 P 07X 2°nNA% "R NP
Tva M w "y; for that answer is valid only when the X is a X120 (like W is 7p°172 X317 W) it is not a
X7 in 7, then we can argue that the X720 of 121 "7 7N is stronger than the X720 of X117 w°. However
here by 237 it is a X7 in 17 (that 72WR1 O¥53 7915 02Wn) then it is a valid 837, for a X120 is not stronger
than a 1°7. See (TIX7) X"wAmn. See "X 7"7 X,7"2 7P MO,

26 1" maintains that P1°I7 %2 1P pays a 0w Pl (even) the first time; he derives it from a Y"'p. Accordingly
if a on killed a person in the P37 9%n he will pay a 02w 1913 (even the first time).

7 See footnote # 15.

% See (8,7 7) 2" and (X,1 A7) X MR 7"910.

¥ See X971 MR 1" WA
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